FEHEBGIE]  Wore Dircot Troportion
General | General Value Specific
Statement | Equation UL AT of k Equation
x| 1| 2| 4
yox3 |y=kx?3 k=3 | y=23x3
y| 3 |24 (192
x| 1| 4 |25
X VX = kvx k=12 = 12vx
yox |y=k'x J 12 | 24 | 60 y Vx
k 1|+ 19 k = 0.75 0.75
< X = kx = 0. = 0.75x
Y Y y |0.75] 3 | 7.5 Y
x| 1 | 8 [125
o Vx = ki/x k=10 |y =10Vx
yoeNx |y v y | 10 | 20 | 50 Y v
x | 1 4 | 10
yxx? |y=kx? k=2 | y=2x?
y | 2 | 32200
1 4 | 25
yxvx |y=kVx k=15 |y =15Vx
y | 1.5 7.5
x| 1 6 2 2
o x2 = kx? k =— = —x*
Y Y y| 2132 2 3 | V73"
3 3
x| 2 |v5]| 3
yoxx3 |y=kx? k=+5 |y=+5x3
y |8V5| 25 |274/5 Y
1 | 8 | 64
yxix |y=kix k=a | y=alx
y| a | 2a] 4a




